
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique decimais por potências negativas de dez

8712, 1 × 0.01 = ________ 7655, 5 × 0.01 = ________

8011 × 0.1 = ________ 3924, 8 × 0.0001 = ________

4419 × 0.1 = ________ 3073, 1 × 0.01 = ________

9874, 5 × 0.01 = ________ 3304 × 0.0001 = ________

2684, 7 × 0.01 = ________ 6860, 8 × 0.1 = ________

7722, 5 × 0.001 = ________ 7908, 4 × 0.01 = ________

6392, 9 × 0.0001 = ________ 1901, 4 × 0.0001 = ________

6927, 9 × 0.01 = ________ 2819, 7 × 0.1 = ________

4620, 6 × 0.1 = ________ 4850, 7 × 0.1 = ________

5779, 7 × 0.0001 = ________ 7010, 7 × 0.001 = ________
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